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program RollerCoaster;

const
K = ...;


N = ...;

type msg = record


ID : integer;


end;


var 
coasterIN, coasterOUT : mbx;


passengerBox : array [1..N] of mbx;

procedure Passenger(ID : integer);

procedure riding (ID : integer); begin ... end;

procedure walking (ID : integer); begin ... end;

procedure boardCar (ID : integer);

var
m : msg;


status : boolean;

begin

m.ID := ID;


mbx_put(m, coasterIN);


mbx_get(m, passengerBox[ID], (, status);

end;

procedure leaveCar (ID : integer);

var
m : msg;


status : boolean;

begin

mbx_get(m, passengerBox[ID], (, status);


m.ID := ID;


mbx_put(m, coasterOUT);

end;

begin

while true do

begin


walking(ID);



boardCar (ID);



riding(ID);



leaveCar (ID);


end;

end;

procedure Coaster;

var
i : integer;


boarded : array[1..K] of msg;

procedure riding; begin ... end;

procedure boardingCar;

var
i : integer;


m : msg;



status : boolean;

begin

for i := 1 to K do 


begin


mbx_get(m, coasterIN, (, status);



boarded[i] := m;


end;


for i := 1 to K do 


begin


mbx_put(m, passengerBox[boarded[i].ID]);


end;

end;

procedure leaveingCar;

var i : integer;


m : msg;



status : boolean;

begin

for i := 1 to K do 


begin


mbx_put(m, passengerBox[boarded[i].ID]);


end;


for i := 1 to K do 


begin


mbx_get(m, coasterOUT, (, status);


end;

end;

begin

while true do

begin


boardingCar;



riding;



leaveingCar;


end;

end;

begin
end.
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